T AR AR RGBT LR & T 5

BB s=1/100
S AEFTBHLEHR L=1000 N=21F

HAREHESICEYBETE

4500 400 5700 600 4800 5400 11700
| (o © N < < —
F go~250m R H * ¥ ?
BiaEE PP 3 BH Eih
] [ [/ \1 ] (C ) f % BIMIRERA
TR — 0L
(1 ® ©) (12) SR FFRA (13) (21)
XKEHEMSZER R (BEE) (X25ecmLFICT S & )
XIMFEBEZTICRUYUANALAIGEGSOCEFEOBEERANRFERAWVWSZ &
a9 ) — MEHEER s=1/25 a9 ) —MEHEBE s=1/25
= - +0~+10. 6 (L=10. 6m) +10.6~+33.1(L=17. 1m)
&1 18 & s=1/500
\x e | %EmEmsmEm (PR (| s ke b5 AL 4 (FIEY)
O
0 >
\ P%O 220 240
. S5 FAEMDS LE M L1000 N=212 A=0. 058m2 A=0. 062m?2
Q@)
N N v Y5 1y—k V=0.61m3 Y a9y y—k V=1.06m3
o S — Ny FEE #8013 Ny FEE g #®DI3
s I ' S5 3 TUh—EE Z#%#5D130500 Frh—EE Sl Y| EmDI3E500
. hé ZE;EI] " t————_'\ <
A I S
x5 - = N
OO {AI5% {a7% EJ
/ OO K
‘ \ N —
é%%%ﬁﬁﬁmmm L 1000 N 21% S 5 G IEES SAREIS
QL 3 = -~ = 3 £ :ﬂgﬂ mT £
l]é‘b%:b Lq;}é%;iﬁﬁlil(%ﬂ? X())f 4r2={581 gﬂﬂﬁl X EEM221@E ERA22{E nt Lo N B =
AR N . = F X = X =B . FHB BIE RIS =
UN2 K ¢60.5 N=10EFRT x4E=40{ X EZ#20E. T4 20{E TR R ARG LR B TS
N\ B - FEE
AQ a4 1)—k21-20-12BB  V=0.61+1.06=1.67m3
B A=0.40x (10.6+17.1)=11.08m2 ﬁER:;fiz Eme 1 =0
A — %A W=(0.40mxb4EFHfRr+27. Tm) x0.995kg/m=49. 1kg
DY A=0.427x (10.6+17.1)=11.8m2 "R # 8 8|EE
B R £ B B|Eue
B AW




